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QUESTION 1

A business analyst is using the Totals check box in an Explore to get the sum of a column of values. The number that
appears in the Total row is much higher than the analyst expects, and this number is not the sum of the values in the
column.

What is a possible cause of this discrepancy?

A. There is a row limit applied.

B. There is afilter on a dimension.

C. There is a problem with the underlying LookML.

D. There is a column limit applied.

Correct Answer: D

QUESTION 2

The query below shows how many uses purchased an item from each of two clothing departments.

~ FILTERS @ Custom Filter

{o} Orders Created Date is in the past $ T days $

¢ VISUALIZATION

~ DATA RESULTS Row Limit B34 ¥ Totals
Products Department Users Count
1 Men 1000
2 Women 858
Total 1,855

Why are the total and sum of the rows unequal?

A. There is a filter limiting the count in the Total row.

B. There is a faulty logic in the way users relate to clothing departments.

C. A user is only counted once in the total even if the user has purchased from both departments.
D. There are users who have never purchased a clothing item from either department.

Correct Answer: C
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QUESTION 3

Two weeks into the third quarter, an analyst needs to determine the total order count per month for only the first two
quarters.

How should the analyst filter the query?

A. Created Month "is in the first 2 quarters"

B. Created Month "is in the past 2 complete quarters"
C. Created Month "is in the past 2 quarters"

D. Created Month "is in the last 6 months"

Correct Answer: C

QUESTION 4

An analyst has a dashboard with table visualizations that display the first few results, and the user can scroll down to
see the remaining results. The analyst wants to download a PDF of the dashboard.

How should the analyst ensure that the PDF shows all available results in the Ul dashboard?
A. Select the Expand Tables option.

B. Select the All Results option

C. Select the Allow Scroll option and specify each table.

D. Select the Paper Size option and specify a large size.

Correct Answer: A

QUESTION 5

An executive needs to receive a dashboard every morning with data for the previous day only. The dashboard currently
has a date filter defined. The executive must receive only the data requested, and the dashboard data needs to remain
unchanged for all other users.

What should the analyst do to meet this requirement?

A. Filter the dashboard for the advanced value "yesterday"”, and create a new schedule.

B. Edit the dashboard data filters default value to be the previous day\\'s date, and create a new schedule.

C. Create a new schedule and modify the filter\\'s default value to the previous day\\'s date.

D. Create a new schedule and modify the schedule filter to be the advanced value "yesterday".

Correct Answer: B
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